T2 6FE Fﬁ/ﬁﬁizzﬁﬁ-’ﬁﬁi =

=0 — F:14280760)

—RELFFDE

TH26F11A38 (A -#)

NA O LBEEERS
(BEH5 01— K:281040)

14 2 fi 3 £ 4 i1 5 fif 6 fiL 7fi 8 fif
100m |fEHE HF 117 08|%&@ K& 117 10|H% fath "N 17\65% #HE 1727|401 G 17 29|45+ WAE 17 40|55 HE 117 43|F)1 #h 117 74
+2.7 |UAC DRl UAC REMEEKX 4 HYOGO TFC EERIK 1 HYOGO TFC e 3
200m |EF o 227 06| E& 227 81|#H* HEE 227 88|FLIL I 237 07|54 {64 23" 60| Il HEB] 237 64|0TN 1EZ 23" 68
+0.8 |E&EX 3 UAC EERIK 1 HYOGO TFC mEeEEs 2 HYOGO TFC KEE#REEY 1
400m EKXK 2EH 52 32|ik&E RE 52" 903 FE 53" 63|iEL EF 54" 20| =3 HRE 547 39| RiE hiE 54" 18| FH tih 55" 58
JEETER 2 UAC REZHEEY 3 mEBES 1 BEKIE 2 REEREE mEBEY 1
800m #H R 2" 00" 03|=H KE 2 00" 96|EKX =E 2' 02" 92| KH & ' 03" 35|HEH HE " 06 44|/h#k BAEE 2' 08" 37|KfE #hiE 209" 27|1=% AKX 2" 10" 63
e T RER NGR|UAC EBE#ED 2 UAC EBREE 2 mEBES 2 REER EBfEEE 1
1500m AH 4 14" T3|LKR EE 4" 16”7 344|178 BT 4 167 94|FaEH—ER "177 51|18 tREE 20 34|&E %R 4" 23" 10| RFHE—HH 4 24" 28|k =T 4" 24" 90
UAC BEBIS 3 UAC mEEES 1 mEeEEYs 3 KREEXEX 2 EACEY 3 OHMI T&F CLUB
5000m i RE 15" 257 65|ILEA Kith 15" 30" 98|&E %A 15" 45" 45iEH+ HEth 15" 477 88|#AK MK 15" 58" 95|MI&E [ER 16" 00" 47|/h#k  Bhst 16" 167 84|4EH mth 16" 177 31
MBENGRT mERSY 3 RIREEX 2 BRBIE 3 mEBSY 2 MBS 1 TEBEY 2 UAC
B 1iomH |wr mE 147 92|65 wE 147 94|B7R8  #(= 157 46(FH =4 167 13|Hh H& 167 T1|#E 1) 167 91|H# RFE 177 44
+0.6 |HEBEY 4 NGR|REBEEKX 4 NGR|TEBEY 2 UAC REEREEY 1 E@$ 3 HEBES 1
UAC-A 43708 |HfEEEY B 43°73 | REERESY 44767 |BIAFER 44789 |HREIHESY A 45704 |EHES 45728 ([KEF#HRES B 45733 |REBISFA 45”75
mE #th 0 NGR| WA B®E 4 TE =®E mE Be BHE %A hE EEO3 FE & R OBEX 2
4x100m| #E HFE 0 '’E X&E me Bt 3 R RE mO B®H 2 R EE FE FN 2
bt 0 S8 =3} a BEE X— S8 fhtE Ak BEA 3 W R=E BE X#E 3
F BiE FE 0 ER &£A 3 HE O —H b ITR - ¢ iy F4b HE O #E 3 AR F EH R¥E 2
—y, | B 2m00 (#rRE m86 [EH fHak m86 |t RFE me0 |%3H [E— m80 (#EE 4% m80 |Mfh HE m80 |&H RX m75
B KOBE ALL FREE BHmX 2 REEBESY 3 MBS 1 REERES NMR (5fL) |RE#ELASY 1 (54L) |RE#HBESY 2
. [1TpZ R S om0 (AR* 3m70 |eRAt R 3md0  (FHmE #— 3md0 (e LifiRA BA 3m20 (@A BEA 3m20 (#HF K m20 (FriE = 3m20
mERSY 4 NGR|REiE#Ra® S 2 REERAES 3 EBRES 3 BBERES 1 NMR REGHRAEY 1 EBRES 1
- wmH wEt 6m66 (& ESk 6m65| E3R N3N 6m60| ZEELE S 6mb7 (R = 6mb6(\rikE A 6m26|#xHE & 6m23 ()1l #h 6m17
REEMEHY 3 +0. 6| REHEBREEY 3 +0. 3| EERIXK 4 +1.6[52 4 ERK—Y +0. 5|84 £ K-y +1.2|HEBEY 2 REEHREHY 2 +2.3|3L7EH 3 +2.2
it | TR BAK 14m7 KT £&— 13m77 |BF T 12m71 (LR e 12m36 [#es —iE 12mi6 | b4 #% 12m01 [ZfRE 3k 11m98 |RRER @A 11m18
(6. Okg) |RE#IERHY JElB T RE mERSY 1 MEESY 2 REGEHRAEY 2 RERERETY 2 mERSY 2 HEREY 1
Mg |1BF BE 42m33 |FEAR BAK 40md7 |EF #EE 39m88 |REME —iE 3918 |HeE —iF 8m/ (HE B’E 38m22 |\FRER ES 333 |EH HEA 35m42
(1. 75kg) |HRREEY 2 REELEHY mRESY 1 BIETES 2 RERREEY 2 MEEEY 2 mEEEY 1 FRIETER
oy =7 5 B N1 58m36 | —iE 53md43 | EH #X 50m87 |&HiI BAlL 48m61 |FEMA 25 46m70 AR HH 46m31 [HF &N4E 45m91 |FHE RXF 43m30
RSt BIETER 2 REERAEY 2 B4 ERK—Y mEREY 2 BEREE 2 SAERK—Y mERSY 1
WERE| mEEEY 135 & REEREEY 994 UAC 684 | BBES 31R | REKIE 178 |[21ERR—Y 1645 | BERES 10m | JBFIGET 8 M
& EBhkELHRERS Y % LGl =
B R vy  RIE EHA
BE E5
w® 2R 5
BERTE il B




